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Use the following information to answer
questions 50-52.

The table below gives the average daily attendance for each
grade level at JFK High School for 4 months of the current
school year. The boxplots below show the distribution of
JFK'’s total daily attendance figures for the previous school
yvear (180 days) and for half of the current school year

DO YOUR FIGURING HERE.

V

(90 days).
Month
Grade | Sept. | Oct. | Nov. | Dec.
9th 267 | 295 | 310 | 244
1 Oth 425 | 414 | 395 | 341 .
Lith | 382 | 398 | 395 | 389 Ronoy ¢ =T (G
1 2th 441 384 | 414 | 407
M -~ TQR-G), -,
o G cumen I,
previous el Je—)
1,200 1,300 1,4{}03rol 1,500 1,600
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58. Considering only the attendance for the months given
in the table, which grade level, if any, has the strongest
negative hnear correlation between the number of
months 1nto the current school year and the average
daily attendance for the month?

F. 9th
G. 10th
H. 1l1th
J. 12th
K. No grade level has a negative correlation.

51. The number of school days at JFK High School in each
of the 4 months i1s given below.

Month School days
Sum
September +——> 20 - d\-
October —l—=» 20 Y5
November 18
December 15

20420 -f‘?"' ‘.S
Using the attendance numbers 1n the table, which of

the following expressions gives the average
attendance for the 9th grade for this 4-month period?

A 267 + 295+ 3104244
' 4

200267 + 295) + 18(310) + 15(244)
20+18+15

200267 + 295) + 18(310) + 15(244)
420+ 18+ 15)

200267 + 295) + 18(310) + 15(244)
20(2)+ 18+ 15

2O(267) + 20(295) + 1&(310) + 15(244)
4
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52. One of the following statistics 1s greater for the data DO YOUR FIGURING HERE.

from the previous school year than for the data from
the current school year. Which one?

F. Ist quartile
3rd quartile
Median
Maximum
Variance

soll>

53. If@<x <4 and -1 @S 5., what 1s the maximum

;a]u;of Ix—y |2 . ) 2 - \
. C \ =
B. 7 )zk o oo =t |
C. 6 ] 1
D. 5 i 5 R ¥
E. 4
)L/,(«/))= 5
|4 -5 = |

54. In the triangular arrangement of fractions below, the

first and last fraction in row n is —. Any other entry 1s

1
the sum of the 2 fractions on either side of that entry in

the row directly beneath 1t. What 1s the 3rd fraction 1n
the 5th row?

F 1 e
4 /
1 %79+Z
o )
(. T
1 | -
H- s o -
23 12 ';
37 %
30
A,
K. 00
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55. Of the 300 juniors at Northeast High School, 130 are DO YOUR FIGURING HERE.
taking both math and English, 139 are taking both
science and English, 119 are taking both math and
science, and 98 are taking all 3 courses. Only
18 students are taking none of the 3 courses. The data
are shown 1n the Venn diagram below.

,
L,’.‘g‘u'rg;'l"

English y P (52+ 93+ )
+Yyl 4 1%

« o

SCIence

One of the juniors from Northeast High School will be
chosen at random. What 1s the probability that the
chosen student 1s taking exactly 1 of these 3 courses?

0.30 2 T
. .33 broko.= f-;-;d
C. 0.36 ]
D. 0.64 B e
E. 0.67 5 o
36 v

56. What 1s the value of x 1n the equation

]083 54 == ]0 o = ]ng A ‘) j
b £4 ) 5 = Ao
5 1) G

H. 9 >3 :ﬂo%(%\ 3 =
1 % ¥ &
K. 108 @)

has

57. The rational equation ; +

HFFNo y —4

(y=
the same sclution set as which of the following
equations?

A. Y iy+ 1)+ 2(y—4) =y=5

B. y(y+ 1)+2(y—4)=y°—3y—4

C. yy+1)+2(y-4)=(y—5)0("-3y-4)
D. y(y=4)+2(y+1)=(y=5)y"-3y—4)
E. (y+2)(y°-3y—-4)=(y—-50-4)(y+1)

58. For what positive value of@wi]l the expression 5 . 2
9x° + kx + 25 factor into the form (ax + b)* for some (6{ b)) = a’+2ab +
real number 4 and some real number 6 ? >

@30 e v 4 N a’- Za b —+ b
G. 16 (3;)14, 2(32 )(50+(5) = 31-46) /a’) .
H. 15 ( \3)
K. 2 9xire?s 12 be (a-b) (4 + 3
W=
Math is Root of Knowledge
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